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A B: &5, f: AbS BADE/ (f: A— B) &l
% a € AICRL, b e BEZEDHDRA
DZE. b= f(a) Tfeld f:a— b £EL.
A Ziatl (E&EE), B Z#E (%) 0.
Bl f:Z—>7Z% f(m)=m+1 TEDHBE, f(2) =3
fF R>R% f(x) =z TEDDE, f:—1—1

fR2 >R % (i) > (ggfgg) TEDDE

5(o)=(0) 71 )= (3)

I I B=RDEETEGEBPHREEND.
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A B8, f:A—>BE&® SCA
f(S) ={f(a)|laeS}C B: flcksd S DE
f(A) ZEIC f DREFT, Im f EE£EL.

*x b€ BHbE F(A)
S b= f(a) &35 a € ADBEFEETS

Bl f:R—R, f(z) = z2
Imf =R>, ={z €R|z 2 0}
fF R—=R, f(z) =sinz
Imf=[-11(={zl—1Zz<1})
f:Z—7, f(m) =m % 3 TE|>c&Y
Im f = {0, 1,2}



B - [BEEFEER - ¥ER
A B C&8, f:A—=> B, g: B—CER®
gof:A—C,a— g(f(a)): f&gDEHREH

Bl f:RoR, f(z)=2% g:RoR, gl@)=z+1
gof(z) =g(f(z)) =g9(@*) =z*+1
fog(z) = rf(9(z)) = f(z+ 1) = (z+1)?
1a:A— A, 1a(a) = a [EEER
= 1lgof=fola=Ff
h:B— AWER (f!)< foh=15, ho f =14
Bl f(x) =+ 1= fH(z) =z —1 (HEXK
F:R2 >R, f(@):(g) = fof=1lmie fl=Ff
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*xBEiR f:A— BhHhest < f(A) =8B

Bl f:R—R F(z) =22 & ImF #R 5OTRHETHEL.
FiR— Ry EEXNERS.
i.e. BIFERICHPRTNIZTBIC2ET.

*x BiR f: A— B HEE

& a,a € AL, f(a) = f(a') =>a=a

& a,a € AIHL, a#a = f(a) % f(a')

Bl f(z) =23 & a® =03 a,b €ER 5 a = b EDOTHES.
f(z) = 22 1F f(1) = f(—1) LOTEHFTHEL,
1L, f & Ry ICHIRTNIHST.
i.e. EREEZELGHDESICHIRT NILEST.
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f:A— B 285t & [ 24 D Bt
Bl 14: A— A BEERIESES

F R =R, f(z) = x3 3285

g:[-%. %] = [—1,1], f(z) =sinz G285

pir R, (T) o (1] nams
*x f: A= BICHEGHFE & f 284
Bl1 =14 fi(z) =z,

g7\ (@) = sin" (), (g =(321



